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	Chronic obstructive lung pulmonary disease and cardiovascular diaseases have remained the top major causes of mortalitykillers during the past decade. In the top of the 10 leading causes of death in the world COPD is in on the third place, it's 3,.1 million people, and arterial hypertension is on the on the tenth – 1,.1 million. Combination of theseis two pathologiesy  aggravates the course of each other,, and represents serious medical and social problems, which leads to health-related quality of life reducing ed quality of life and, eventually, may lead to disability.	Comment by Oleksiy Kalmykov: Можно в принципе и "lung", но как-то уж повелось называть эту болезнь как "pulmonary", отсюда и общепринятая аббревиатура COPD.	Comment by Oleksiy Kalmykov: слово «убийцы» в данном контексте не характерно для научного стиля	Comment by Oleksiy Kalmykov: не думаю, что определенный артикль здесь уместен – мы же не указываем, какие-либо именно 10 ведущих причин; тут или неопределенный артикль «a»можно поставить, или вообще без него обойтись.	Comment by Oleksiy Kalmykov: нужен глагол	Comment by Oleksiy Kalmykov: в английском языке в десятичныхе дробях целая и дробная части разделяются точкой, а не запятой, как в русском языке.	Comment by Oleksiy Kalmykov: нужен глагол	Comment by Oleksiy Kalmykov: "Причесал" это предложение, т.к.  в исходном варианте лично для меня смысл терялся во множестве грамматических и, возможно, ряде семантических, ошибок
	At the present time, for these diseases can be determine the main modifiable factor that can be determined for these diseases, increasing the risk of them, is such as smoking. Tobacco use is a major cause of many of the world’s top killer mortal diseases illnesses – including cardiovascular diseasepathology, chronic obstructive lung pulmonary disease and lung cancer. In totalgeneral, tobacco use is responsible for the death in of about 1 of ineach 10 adults worldwide. Smokers arise the specific nature of inflammation,s includinges, along with the presence of neutrophils and macrophages, increaseds contents ofin CD8 cytotoxic T-cell and Ncnatural killers1 lymphocytes, presented only in smokers, leading to structural changes in the bronchi.  In the later stages, primarily considering  growing hypoxia, there are structural changes not only in pulmonary, but also in systemic circulation, but also in the systemic circulation. All this results in the And in the result formed formation of endothelial dysfunctionendothelial dysfunction. It is known, that endothelium regulates the vascular tone. So eEndothelial dysfunction is  - an imbalance between substances produced in the endothelium and produced in the endothelium, which are responsible for  contraction and expansion dilation of blood vessels. Which This in turn can be one of the causes of arterial  hypertension. Nicotine constricts blood vessels, thereby, increasing arterial blood pressure. Also iIt's also stimulates the adrenal cortex to secrete adrenaline, which increases the heart rate and causes hypertension.	Comment by Oleksiy Kalmykov: наменил слово, чтобы избежать тавтологии	Comment by Oleksiy Kalmykov: наменил слово, чтобы избежать тавтологии	Comment by Oleksiy Kalmykov: "in total" формально тоже правильно, но обычно используется в подытоживающем контексте, а мы еще толком ничего не перечислили, наоборот, нам по сути нужно вводное слово, "в общем", "вообще" - этот смысл, на мой взгляд, лучше передается как "in general'	Comment by Oleksiy Kalmykov: Я вообще правильно угадал тип лимфоцитов - естесвенные киллеры? Если да, то нужно или полностью написать их название, или использовать понятное всем обозначение в виде СD (кластеров дифференциации), как ты это сделала для Т-киллеров/супрессоров (СD8). Если, опять же, я верно угадал тип клеток, то в данном случае СD16. Это для краткости. Или же, как я все исправил, лучше писать в развернутом виде.
	According to the World Health Organization, today 1.3 billion people on our planet is dependent on tobacco. every Every year in Ukraine die from smoking-related causes about 100 000 people die from smoking-related causes, while in Kharkov Kharkiv because of smoking in a year die 3363 people die in a year due to smoking, accounting forabout 9 persons eople daily. So, it could be said, we can say, that smoking is one of the main reasons of COPD in combination with arterial  hypertension. And this is a modifiable factor! And iIf everybody  man decidess for himself, that he must to stop smoking, this it would ill be not only decreases the risk of development of these pathologies, but also significantly improve the quality of life.
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